PAGE  
1

RITEMATHS PROJECT
Finding position at sea:  Answers
(Q1)  
(i)
tan (34.9)=710/AC ( AC=1017.8m

(ii)
34( 54( 0(
           
(Q2)
(AE)2 = (4850)2  + (1017.8)2  = 4955.6m


(Q3)
tan(= 570/4955.6 ( (=6.6(

(Q4)
(i)
Let (=BAE. Using sin(=4850/4955.6 ( (=78.1(



(ii)
(=78.1(

(Q5)
(i)
Because speed = distance/time, we also know that 




time = distance / speed. 



15.3km/h divided by 4.85km gives time =.32 hours = 19 minutes.



(Remember to convert the distance to km)




(ii)
Let angle ADB=(, then tan(=1017.8/4850 ( (=11.9(

(Q6)
Angle of depression (, may be evaluated from tan(=1017.8/570 




( (=60.7(

(Q7)
(i)
Angle EDG=75.6(, then the distance DG may be calculated from





cos(75.6()=1017.8/DG ( DG=4092.6m

(ii) sin(75.6()=EG/4092.6 ( EG=3964m


(Q8)
No you cannot see Mt Kestrel. The reason is that Mt Kestrel would need to be 1270.1m high to be visible from point G, even if the mountain adjacent to Jaeger Inlet did not block its view completely.

